

Page 1 of 1

### Florida Department of Transportation



**Vendor Ranking** 

**Letting:** 02230419 April 19, 2023 11:00 AM **Call Order:** 004 **Contract:** E21B8-R0

District: District 2 Counties: ALACHUA, DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 41021347262 (\*)

Contract Desc: Gainesville Maintenance Urban Tree Trimming - Over Lanes

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	MIDWESTERN CONSTRUCTION, INC	Responsive	Winning bid	\$86,675.00	100.00%
2	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$116,075.00	133.92%
3	HOYERS EXPRESS	Responsive	Non-Winning Bid	\$119,475.00	137.84%
4	BOONE IMPROVEMENTS, INC.	Responsive	Non-Winning Bid	\$197,186.60	227.50%
5	WD GARDNER LLC	Responsive	Non-Winning Bid	\$292,250.00	337.18%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



#### Florida Department of Transportation



#### **Tabulation of Bids**

Page 1 of 3

**Letting:** 02230419 April 19, 2023 **Call Order:** 004 **Contract:** E21B8-R0

District: District 2 Counties: ALACHUA, DIST/ST- Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS WIDE Project(s): 41021347262 (\*)

Contract Descr: Gainesville Maintenance Urban Tree Trimming - Over Lanes

Tree pruning and trimming over travel lanes and around highway lighting fixtures as listed in the bid items within state maintained right of ways in urbanized areas of Alachua and Bradford Counties. Bucket trucks, chainsaws and pole saws may be required to perform the work. All vegetative material will need to be removed from the right of way and disposed of properly. Mobilization and Maintenance of Traffic are incidental to the pay items listed. MAXIMUM LIMITING AMOUNT - \$125,000,00 RENEWAL OPTION BID EXPRESS MANDATORY

\$125,000.00. RENEWAL OPTION. BID EXPRESS MANDATORY.								
Line No / Item ID Item Description			(1) MIDWESTERN CONSTRUCTION, INC		(2) T & M LAWN-FENCE SERVICE INC		(3) HOYERS EXPRESS	
() indicates item is bid as	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TREE TRIMMING AND REMOVAL (MH								
0005 E580336 PRUNING AND TRIMMIN 4")	IG (LESS THAN	50.000 I EA	25.00000	1,250.00	10.00000	500.00	75.00000	3,750.00
0010 E580336 1 PRUNING AND TRIMMIN	IG (4" TO 24")	635.000 EA	105.00000	66,675.00	150.00000	95,250.00	135.00000	85,725.00
0015 E580336 2 PRUNING AND TRIMMIN	IG (> 24")	150.000 EA	125.00000	18,750.00	135.50000	20,325.00	200.00000	30,000.00
0001 TREE TRIMMI REMOV	NG AND Secti 'AL (MH)	on Totals:		\$86,675.00		\$116,075.00		\$119,475.00
С	ontract Grand	d Totals:		\$86,675.00		\$116,075.00		119,475.00



# Florida Department of Transportation



## **Tabulation of Bids**

Page 2 of 3

Letting:	02230419 Ap	oril 19, 2023	Cal	l Order: 004		Contract:	E21B8-R0	
	Line No / Item ID Alternate Quantity tem Description Units  ( ) indicates item is bid as Lump Sum		(4) BOONE IMPROVEMENTS, INC.		(5) WD GARDNER LLC			
() indicates			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TREE TRIMMING AND REMOVAL (MH								
0005 E580 PRUNING AN 4")	0336 ID TRIMMING (LESS THA	50.000 N EA	35.91000	1,795.50	50.00000	2,500.00		
	0336 1 ID TRIMMING (4" TO 24")	635.000 EA	241.06000	153,073.10	350.00000	222,250.00		
	0336 2 ID TRIMMING (> 24")	150.000 EA	282.12000	42,318.00	450.00000	67,500.00		
0001 TR	EE TRIMMING AND Sec REMOVAL (MH)	tion Totals:		\$197,186.60		\$292,250.00		
	Contract Grar	nd Totals:		\$197,186.60		\$292,250.00		



## Florida Department of Transportation

04/27/2023

**Tabulation of Bids** 

Page 3 of 3

**Letting:** 02230419

April 19, 2023

Call Order: 004

Contract:

E21B8-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.